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4. Sile u §tapovima
1) Ravnoteza ¢vora I

o Zadatke rijesio: www.poduke5.com, poduke@gmx.com, +385(0)996769026 .

2) Ravnoteza ¢vora VII 3) Ravnoteza ¢vora VI

S -
IRE B IE ) 1
2 53 - -
I 33 T@ ¢58 y
~ GTI
ﬂ
® xS @ 8 ~ ®
Rax T @ 3‘,\ - ] 2 y=S Se (; |l
A ) - %X @ S = s Fé ~
\ % ®
RA3 ,-*
1) T Fix =9 @la O, Syl o 33
A\ B = —
S)~Rax =0 (6) D Sax 4 4) = x=0
Sp= 0004 (vlai,, s/Zq) o= L (8) F2-55=0 ()
2) SFy=0 szio Ss = So0y (Vs)
Sz = 3304 (Vs) s - &0 (3) Re ~3Sy~S3y=0 (49 Sy —Sag=0 (//‘z}

Saxm S50 C05 S3y =Sy-ainx (12)

S < 409004 (73)

Sy 5505 ({7603

59’: '%—53'5/’09( (/3)
s 5,
I =

(10) S, = S 0~ 1y4,21-51045°
COsK
s 00 Sy= 4100504 (75)

c0s 45

S3=1 G4, 2/(/‘ (’7’/5,595, s//q)

18 11204 Zadatke rijeSio: www.poduke5.com, poduke@gmx.com, +385(0)996769026 Str by



4) Ravnoteza ¢vora II
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